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Question 41
Not yet
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Marked out of
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¥ Flag
question
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In the parent strands of DNA, each of newly synthezied DNA double
conserves half of the original DNA molecule.

Semi-ccllservative replication
Conservative replication
Translation

J d. RNA translation

)e. AandB

Clear my choice
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Question 44

Not yet
answered
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question
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Liver cells are called A

Ribosomes
Gametes
Germ cells
Somatffc cells
() e. Mitochondria

Clear my choice

The difference between leading and lagging strands is that
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Question 32

Not yet
answered

Which of the following is NOT a component of DNA

Pyrimidines such as uracil.
:‘;;ked Dt ) b. Purines such as adenine.
¢ ) ¢. Pyrimidines such as guanine.
¥ Flag i
| question () d. Deoxyribose sugar.
| = A phosphate group.
‘A’ and ‘'C'

Clear my choice
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p 4:31 &l 21.04.07
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vered -~
) a.

d out of e
E s U b. the leading strand is synthesized by adding nucleotides to the 3' end of the
growing strand, and the lagging strand is synthesized by adding nuclectides

to the 5' end

There is no clear difference between leading and lagging strands.

-8
J
|..

lag

stion
the lagging strand is synthesized continuously, whereas the leading strand is
synthesized in short fragments that are ultimately stitched together.

the leading strand is synthesized in the same direction as the movement of
the replication fork, and the lagging strand is synthesized in the opposite
direction. N

Clear my choice
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p 4:36 &l 21.04.07
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Jestion 35
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[ Flag
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O g. All of the above except A

A frameshift mutation can be caused by ;.

O a. 4 bases being inserted

O b. 2 bases being deleted

O c. 3 nucleotides being added
O d. 3 nucleotides being removed
@ e AandB

Clear my choice
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Clear my choice

The double helix of DNA in the B-form is stabilized by:

Hydrogen bonding between the phosphate groups between the 2 strands
Hydrogen bonds between the sugars of each strand

Covalent base-stacking interactions between adjacent bases in the same
strand

Covalent bonds between 3' end of ane strand and the 5' end of the opposite
strand

Cand D

None of the above

Clear my choice

Which of the follawing statements about mitochondrial ONA s INCORRECT?
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8T 1L AR

£) o YO

e. All of the above

Clear my choice

westion 18 Which of the following sequence of the DNA strand is the least stable?
lot yet
[pireesd O a. CCTAGATCTGAGAG
i ® b. CCTAGACCGTAGAC
O c. GGATCTGGATCTAT
¥ Flag
O d. GAATCTGGATCTAA

Clear my choice

What is correct regarding the messenger RNA?
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Which of the following statements about DNA packaging into chromosomes is
correct?

Oe.
CUE

Clear my choice

Yr eSle pobudl
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The DNA double helix wrapped 4 times around the core histones to produce
a nucleosome

The H1 histone is a part of the core histone

The 300-nm chromatin is created by interaction of 10-nm fiber and the
nuclear matrix

The radial loaps of the 300-nm chromatin are generated by the attachment
of looped domains to the nuclear matrix via DNA sequences called MARs.
Cand D

All of the above are correct
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.
stion 14 The DNA consists of nucleotides linked to each other by - ‘1
yet 1
weared 3 a. phosphodiester bonds between the 3' carban of one nucleotide and the 5*
fked out of carbon of the following nucleotide in 5' to 3' direction
) - : .
® b. phosphadiester bonds between the 5' carbon of one nucleotide and the 3*
Flsn carbon of the following nucleotide in 5° to 3' direction
estion

phosphodiester bonds between the 2' carbon of one nucleotia!md the 5
carbon of the fallowing nucleotide in 5' to 3" direction

glycosidic bonds

Clear my choice

YY oSde a0l
p 4:27 2\l 21.04.07
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¥ Flag
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The complementary sequence of 5' AATTCGCTTA 3'is

a. S5'WATTCGCTTASZ".

) b. 5'TAAGCGATTT3,
c. 5'TTAAGCGAAT3 il
d. 5'TAAGCGAGTT3"

® @ 3'TAAGCGAATTS! X
None of the bove

Clear my choice
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Clear my choice

Question 23

Not yet
answered

Where would you most likely find chromatin in the 30 nm fibers conformation?

Hetero¥nromatin
Marked out of
1.00

¥ Flag
question ) Euchromatin

AandB
Band D

Actively transcribed chromatin

Silenced chromatin

Clear my choice
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is repeating structural unit within eukaryotic chromatin
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Clear my choice

The double helix of DNA in the B-form is stabilized by:

a Hydrogen bonding between the phosphate groups between the 2 strands
b. Hydrogen bonds between the sugars of each strand

) c. Covalent base-stacking interactions between adjacent bases in the same P
strand l
5 d. Covalent bonds between 3' end of cne strand and the 5' end of the opposite |
strand 1
|

e. CandD

® f. None of the above

Clear my choice

Which of the following statements about mitochondrial DNA is INCORRECT?
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Clear my choice

Somatic cell nuclei and germ cell nuclei differ in their enzyme content. Which of the
following enzymes make the germ cell *immortal*?

Telomerase

Endonuclease

Ligase

a.
b
c. RNA Polymerase
d.
e.

DNA Polymerase

Clear my choice
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Clear my choice

is repeating structural unit within eukaryotic chromatin which are

composed of RNA and histone proteins
(@] Repetitive DNA
® Nuclebsome

Heterochromotin

a.
b.

O c. Euchromatin
d.
e

None of the above

Clear my choice

in their enzyme content. Which of the
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Which of the following activities of DNA polymerase | allows it to remove RNA primers .
during lagging strand synthesis? ]

O a. 3'to5' polymerase activity
O b. 5'to 3 polymerase activity
O c. 3'to5' exonuclease activity
@® d. 5'to 3 exorficlease activity

Clear my choice

Y oSde aMdl
p 4:20 &l 21.04.07
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Clear my choice

;uﬁllon 34 ‘

Which of the following statements about mitochondrial DNA is INCORRECT?
Not yet
e O a. The mitochondrial genome encodes all of the mitochondrial proteins l
:‘:ﬂm = O b. Mitochondrial DNA is usually a circular, double-stranded DNA molecule that .
; is not packaged with histones, ]
:“:::n O ¢. Mitochondrial genome has no intrans but few nonceding nuclectides

between the genes J

O d. Mitochondrial genome has very little repetitive DNA J
O e AandD :
Of BandD

@ g. Al of the above except A 4 B

Clear my choice
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2 4:20 &ld1 21.04.07




ich of the following is not a true st ent comparing prokaryotic an. aryo
ue state t comp: i
Wh f th ‘ t prokaryo d euk tic

0O a. Both eukaryotic and prokaryotic DNA polymerases require RNA primers made
by primase

DNA replicatich always occurs in the nucleus.
Eukaryotic DNA replication involves more polymerases than prokaryotic
replication.
() d. Eukaryotic DNA replication requires multiple origins of replication, while
prokaryotic replication uses a single origin of replication
Clear my choice

Bacterial

plasmids are circular piece of DNA, encode for proteins that are not
to pacteria wth, may confer resistance to antibiotics.

Yr eSle pobudl
p 4:25 dclull 21.04.07
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® e. Allof the above

Clear my choice

westion 18 Which of the following sequence of the DNA strand is the least stable?
lot yet
[pireesd O a. CCTAGATCTGAGAG
i ® b. CCTAGACCGTAGAC
O c. GGATCTGGATCTAT
¥ Flag
O d. GAATCTGGATCTAA

Clear my choice

What is correct regarding the messenger RNA?

Y oSde aMdl
p 4:22 &l 21.04.07
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Which of the following statements about euchromatin is correct?

a.
b.
..
d.
e.
f.

a.

Euchromatin is lightly packed and available for transcription.
Euchromatin is tightly packed and available for transcription.
Euchromatin represents 10% of chromosome

Euchromatin replicate late S phase

Concentrated at the both ends of the chromosome

"B and E"

All of the above except A

Clear my choice
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Which of the following sets of materials are required at all by both eukaryotes and
prokaryotes for replication?

double-stranded DNA, histone modification, 4 kinds of dNTPs, primers,
origin(s) of replication

) b. topoisomerases, telomerase, polymerases
Oc

G-C rich regions, polymerases, origin origin{s) of replication

d. nucleosome loosening, 4 dNTPs, 4 INTPs
e.

® None ol the above

Clear my choice

The secondary structure of the tRNA is

YY oSde a0l
p 4:24 2\l 21.04.07
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Which of the following activities of DNA polymerase | allows it to remove RNA primers .
during lagging strand synthesis? ]

O a. 3'to5' polymerase activity
O b. 5'to 3 polymerase activity
O c. 3'to5' exonuclease activity
@® d. 5'to 3 exorficlease activity

Clear my choice

Y oSde aMdl
p 4:20 &l 21.04.07
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Which of the following statements about mitochondrial DNA is INCORRECT?

The mitochondrial genome encodes all of the mitochondrial proteins

Mitochondrial DNA is usually a circular, double-stranded DNA molecule that
is not packaged with histones

Mitochondrial genome has no introns but few noncoding nucleotides
between the genes

Mitochandrial genome has very little repetitive DNA
AandD
BandD

g. All of the above except A

Clear my choice
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et

vered -~
) a.

d out of e
E s U b. the leading strand is synthesized by adding nucleotides to the 3' end of the
growing strand, and the lagging strand is synthesized by adding nuclectides

to the 5' end

There is no clear difference between leading and lagging strands.

-8
J
|..

lag

stion
the lagging strand is synthesized continuously, whereas the leading strand is
synthesized in short fragments that are ultimately stitched together.

the leading strand is synthesized in the same direction as the movement of
the replication fork, and the lagging strand is synthesized in the opposite
direction. N

Clear my choice
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In the parent strands of DNA, each of newly synthezied DNA double
conserves half of the original DNA molecule.

Semi-ccllservative replication
Conservative replication
Translation

J d. RNA translation

)e. AandB

Clear my choice
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Question 26
Not yet
answered
Marked out of
100

¥ Flag
question
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O d. Ligase
O e. DNA Polymerase

Clear my choice

snoRNA are small nucleolar RNA, found in nucleolus, involved in modification of
mRNA

Select one:

O True

Fa!s!.

;
Which of the following activities of DNA polymerase | allows it to remave |
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3' 10 5’ exonuclease activity

O d. 5'to 3" exonuclease activity

tion 28

et
ered

What is the class of enzymes that

1 required for unwinding the eukaryotic DNA at the
replication fork?

ed out of a. DNA helicase
b. DNAB
c. Mcm2-7
® d. Topoisomerase
O e. 'B,'C'and'D'
Ot ‘Aand'C

Clear my choice

Y eSle a3l

2 4:11 &Wdl 21.04.07
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Bxonuclease activity

What is the class of enzymes that is re
replication fork?

Y
quired for unwinding the eukaryotic DNA at the

DNA helicase
DNA B
Mcm2-7
Topoisomerase
‘B} 'C'and 'D'
‘A’ and 'C'

Clear my choice

nucleosides contain a nitrogenous base, a pentose, and at least one phosphate whil

Y oSde a3l
112 4\l 21.04.07
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) e 'B,'C'and 'D'
f. ‘Wand'C

Clear my choice

nucleosides contain a nitrogenous base, a pentose, and at least one phosphate while
nucleotides contain a nitrogenous base, a pentose, Ibut missing the phosphate

Select one

O True

E]Fatse

he cell cycle and show

il gy

hich of the following are the proteins that regulate t
p— he Cf

Leaugho
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Juestion 30
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Which of the following are the proteins that regulate the cell cycle and show
fluctuations in their concentration throughout the cell cycle?

a
b.
c.
d

J e.

Y oSde aMdl
2 4:14 &l 21.04.07

Cyclins

Growth factors
Enzymes

Second messengers

Protein kinases

Clear my choice
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O e. Protein kinases

Clear my choice

X-chromosome inactivation is an example of facultative heterochromatin

Select one:
ETI’I*—?

O False

re a clinically heterogeneous group of disorders. If

Y oSde aMdl
2 4:14 &l 21.04.07
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Mitochondrial diseases are a clinically heterogeneous group of disorders, If the
causative genes is located in the nuclear genome, it may be inherited:

O a. Inrecessive manner
O b. Indominant manner

-

By maternal inheritance
Aand B
All of the above

Clear my choice
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eukaryotic chromosomes throughout the cell cycle.

Large multimeric protein structure that is bound to the DNA at origins of Mh1
replication origin 1

|
telomerase

origin recognition complex (ORC)
histone proteins

Clear my choice

imated number of nucleotides in a gene (MRNA) that code for 60

Yr oSde a3l
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Question 36

Not yet
answered

Marked out of
1.00

¥ Flag
question

nc_;l...um 37
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According to alternative types of double helices, the predominant form of DNA found
in living cells.

@® a. The B form

O b. The A form
The Z form
AandB
BandC

Clear my choice

Why is an RNA primer considered essential during DNA synthesis by DNA pa

Yr eSle pobudl
16 &Ll 21.04.07




B%1E L E N R

& ¥

What is the estimated number of nucleotides in a gene (mMRNA) that code for 60
amino acids

180
20

183
181
177

O @

a.
b

c.
d.
e.

O
O
O

Clear my choice
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Clear my choice

The double helix of DNA in the B-form is stabilized by:

a Hydrogen bonding between the phosphate groups between the 2 strands
b. Hydrogen bonds between the sugars of each strand

) c. Covalent base-stacking interactions between adjacent bases in the same P
strand l
5 d. Covalent bonds between 3' end of cne strand and the 5' end of the opposite |
strand 1
|

e. CandD

® f. None of the above

Clear my choice

Which of the following statements about mitochondrial DNA is INCORRECT?
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16 What is the role of telomerase RNA in telomere replenishing?

Acts as a template

' B
e Acts as a primer

)

AandC

a.
b.
c. Acts as aribozyme
d.
e. BandC

@ el

Clear my choice i
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O d. GAATCTGGATCTAA

019 What is correct regarding the messenger RNA?
t
et O a. Itis made in the cytoplasm
- O b. Itis a component of the ribosomes
_ c. It carries amino acids
::m @ d. Itisacoding RNA used to generate a corresponding polypeptide sequence.

O e. Itisnot found in bacteria LY

Clear my choice

Yr eSle pobudl
¢ 4:07 4Ll 21.04.07




During DNA replication, the complementary strand is always built from

O a. the end to the middle

O b. the 3'to 5' end, nucleotides are added at the 5' end of the growing sequence

O c. the 5'to 3' end, nuclectides are added at the 5' end of the growing sequence )
O d.

the replication fork to the end, nucleotides are added at then 5' end of the =
growing sequence

@ e. None of the above

Clear my choice Y
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Question 23

Not yet
answered

Where would you most likely find chromatin in the 30 nm fibers conformation?

Hetero¥nromatin
Marked out of
1.00

¥ Flag
question ) Euchromatin

AandB
Band D

Actively transcribed chromatin

Silenced chromatin

Clear my choice

—_—_—

is repeating structural unit within eukaryotic chromatin

Yr eSle pobudl
:09 4Ll 21.04.07
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Clear my choice

is repeating structural unit within eukaryotic chromatin which are
composed of RNA and histone proteins

Repetitive DNA
Nuclebsome
Euchromatin
Heterochromotin

None of the above

Clear my choice

in their enzyme content. Which of the

Yr eSle pobudl
p 4:09 4Ll 21.04.07
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O d. Ligase
O e. DNA Polymerase

Clear my choice

snoRNA are small nucleolar RNA, found in nucleolus, involved in modification of
mRNA

Select one:

O True

Fa!s!.

;
Which of the following activities of DNA polymerase | allows it to remave |

Yr eSle pobudl
p 4:10 el 21.04.07
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What is the class of enzymes that

1 required for unwinding the eukaryotic DNA at the
replication fork?

ed out of a. DNA helicase
b. DNAB
c. Mcm2-7
® d. Topoisomerase
O e. 'B,'C'and'D'
Ot ‘Aand'C

Clear my choice
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Clear my choice

nucleosides contain a nitrogenous base, a pentose, and at least one phosphate while
nucleotides contain a nitrogenous base, a pentose, Ibut missing the phosphate

Select one

O True

E]Fatse

he cell cycle and show

il gy

hich of the following are the proteins that regulate t
p— he Cf
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O e. Protein kinases

Clear my choice

X-chromasome inactivation is an example of facultative heterochromatin

Select one:
ETrt@
O False

eases are a clinically heterogeneous group of disorders. If

Y oSde aMdl
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Mitochondrial diseases are a clinically heterogeneous group of disorders, If the
causative genes is located in the nuclear genome, it may be inherited:

In recessive manner

In dominant manner

By maternal inheritance
Aand B

All of the above

Clear my choice

Yr oSde a3l
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uestion ® False

uestion 30

ion 3 Which of the following are the proteins that regulate the cell cycle and show
Not yet fluctuations in their concentration throughout the cell cycle?

inswered y
Marked out of
1.00

a. Cyclins
b. Growth factors

¥ Flag

question O c. Enzymes

d. Second messengers

) e. Protein kinases

Clear my choice

YY oSide 3Ll
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exonuclease activity

What is the class of enzymes that is re
replication fork?

Y
quired for unwinding the eukaryatic DNA at the

DNA helicase
DNA B
Mcm2-7
Topoisomerase
‘B} 'C'and 'D'
‘A’ and 'C'

Clear my choice

nucleosides contain a nitrogenous base, a pentose, and at least one phosphate wh

Y oSde a3l
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® e. None of the above

Clear my choice

Question 22

Not yet
answered

Introns

Are frequently present in prokaryotic genes but are rare in eukaryolic genes.
Marked out of
ik & Are removed after RNA synthesis.

¥ Fisg y ¢. Do not code for amino acid sequences
question . Can be found many times within a single gene.
Band D
All of the above kxcept A are correct

Clear my choice

| question 23 Where would you most likely find chramatin in the 30 nm fibers conformation?
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Somatic cell nuclei and germ cell nuclei differ in their enzyme content. Which of the
following enzymes make the germ cell *immortal*?

Telomerase

Endonuclease

Ligase

a.
b
c. RNA Polymerase
d.
e.

DNA Polymerase

Clear my choice
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10 4Ll 21.04.07




Clear my choice
ol
ton 20 What is the function of DNA polymerase III?
ret
i~ ) a. to rejoin the two DNA strands (one new and one old) after replication
palosor ® b. to add nucleotides to the end of a growing DNA strand :
- 7 . to degrade damaged DNA molecules
stion ) d. to unwind the DNA helix during replication
) e. to seal together the broken ends of DNA strands

Clear my choice
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O g. All of the above except A

Jestion 35

dot yet
Inswered

A frameshift mutation can be caused by ;.

O a. 4 bases being inserted
I"g;k“ ket O b. 2 bases being deleted
I ) ¢. 3 nucleotides being added
F Flag e &
juestion O d. 3 nucleotides being removed
| ®e AandB

Clear my choice

YY eSide a3l

p 4:17 &l 21.04.07




E% LS R0

é

Question 37

Not yet
nswered
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Why is an RNA primer considered essential duri

nz

Oa.
O b.
O¢
Od

® e

RY-BA

ing DNA synthesis by DNA

There is no particular reason, that is simply the observation,
The enzyme requires a free 3'-PO4 group to initiate replication
The enzyme requires a free 5'-PO4 group to initiate replication
The enzyme requires a free 5'-OH group to initiate replication

The enzyme requires a free 3‘—011 group to initiate replication

Clear my choice

RNA is less stable chemically under alkaline conditions than DNA because__.
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YY 50 YA

O d. The enzyme requires a free 5'-OH group to initiate replication b

O e, The enzyme requires a free 3'-OH group to initiate replication ] I. L

RNA is less stable chemically under alkaline conditions than DNA because___,

®

a. RNA is used ribose sugar instead of pentose
b. The 2nd carbon in RNA contains OH (hydroxyl) group which makes RNA

unstable |
€. Uracil at carbon 2nd carbon in RNA is more reactive than thymine in DNA Y
d. BandC )
e. AandB g

Clear my choice J |
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